HEMERVUREFEHE (FR) I\Ftch R EFE 5
iz | D SMIE06827H
ATRFEH | SFTFE06H28H

EED|
5 M BHil REH HEHE =15 hiE ZiE| TR FEHE
(kg) (kg) (kg)
X#E L = 10 A=t 80, 000 756 540 216 H 40, 000
AS FE. T 10 A=t 1,000 2,376 1,080 H 1,000
HE 5 10 A=t 2,000 756 540 H 2,000
HE EH 10 A=t 2,000 864 H 2,000
JKE RIk 0.2 #Bxt 550 86 O 500
INAEE a5 0.2 #Bxt 400 108 43 11 H 400
INREE B3 0.2 #Bxt 1,750 43 H 1,750
FvRY = 10| A8t 11, 000 648 540 H 10, 000
ES5SNAE a5 0.2 #Bxt 500 140 97 32 H 800
A a5 5, &1 480 1,728 1,404 864 H 450
A B3 5| #Bxt 2,800 1,512 H 3, 500
=2 L AR, RiK 0.1 #Bxt 1,000 32 H 1,000
JAayaly— AL12FE 5 5 #Bxt 1,000 900 H 1, 000
JAyaly— AL24F |BEF 8| = 2,400 2, 851 # 2, 400
L2X =F 10| #8xt 4,000 756 H 4,000
FoTrHYA B3 0.2| #Ex 100 108 H 100
A AS & 5, &) 300 2,376 1,944 1,188 H 300
A AS & 5 #Bxt 500 1,944 H 500
EMF 2E. S5 0.3 #Ex 2,000 238 H 2,000
<k & 4 v 1,000 1,404 1,080 432 H 1,000
F—< > TR 0.15] #Ex 3,000 119 H 4,000
HEE B3 5 #Bxt 2,000 1,944 H 1,000
EHE R 10| #8xt 10, 000 1,512 H 10, 000
E¥ A4L, A3L = 10, +1) 7,000 4 212 1,080 H 5,000
E&E HE., ;K 20|  #Bxt 10, 000 4, 104 H 10, 000
HEIZAIZL a5 11 Y 300 1,080 H 300
SHE =F 0.1 #x 2,100 86 H 3,000
TFIA0 A R¥F. 2 0.1 #8x 700 76 H 900
TFIrA0 A R, B 0.1 £=F& 30 70 H 30
BREE 108, 930




HEMERUVRTEFPFEHE (FR) I\F RS
# 5% B : §F7E06H278
ARFER  §F7E06H288

CED
2 EEHh Bi XH ENseEE 5B th{E ZE| TR FTEH=E
(kg) (kg) (kg)
Y5 R B 1 1) 60 2,700 1,620 756 H# 60
O v UilRiatatk B 1 1) 20 3, 240 2,160 756 H# 20
{EERER bRk B 1 1) 470 1,236 3, 240 864 H# 470
HIwy bk B 1 1) 30 4, 860 3, 240 756 H# 30
INTF mKX. Z4VEY 13|  #Bxt 3,900 3,780 H 8, 450
JodE 55 12| 1) 920 6, 696 2,160 540 H 920
LEY T AAhH 17| #Bxt 170 10, 800 H 150
Lo T AAhH 17| #Bxt 630 8, 640 H 400
SL—T2IL—Y m72Y)h 17| #Bxt 730 6, 480 H 200
INA T 9T p A= 10|  #Bxt 620 3, 456 H 680
RS 11, 380
BeE 120, 310




